RA 13 – De Anima  Books II and III
(1) Aristotle distinguishes between “sense potential” and “sense actual” in order to solve a problem about sense perception.  What is the problem that Aristotle is attempting to solve and how does this distinction attempt to solve it?

(2) Aristotle draws a metaphor between sense perception and the imprinting of a signet-ring on a piece of wax.  What point does the metaphor illustrate?
(3) Aristotle argues that perception, imagination, and thinking are all distinct abilities.  Briefly summarize one of Aristotle’s arguments that distinguish between these three capacities.
(4) What does Aristotle mean by saying that the body of an animal cannot be simple?  And why does he believe this?  
